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In a three-good world, is the following set of observations of price-quantity data
consistent with utility maximization? Why or why not? (10 4

price quantity
Good1l  Good2  Good3 | Goodl Good2  Good?3
Consumption 1 3 4 - 1 5 1 3
Consumption 2 2 3 2 3 3 3
Consumption 3 5 3 1 4 2 2

Suppose the phone company charges $200 a month for basic service, which

includes 100 free calls per month.  After the first 100 calls, each call costs $1.

Under this pricing structure, Mr. Smart makes 200 calls per month. (20 43)

a) Suppose a second phone company offers a different pricing structure: phone
calls are $1.5 each, there is no monthly service charge and no free calls. Will
Mr. Smart change his phone company? If he does, or if he is forced to
change, will he make more or less phone calls?

b) Suppose the new phone company charges $1.7 per call. Does your answer
1o a) change? If so, how?
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2. Can an economy grow without technical progress? Explain your answer.

B (BEM 10/ FRBHRGE—JER  B/NE3 )

1.

Which of the following costs of producing computer memory chips SHOULD

NOT be considered when deciding whether to increase production?

a. The wages paid to the workers on the memory chip assembly line.

b. The costs of materials that go into the production of each chip.

¢. The costs of packaging and shipping completed memory chips to Dell,
Gateway, and Micron.

d. The wages paid to engineers working in research and development,

e. All of the above costs should be considered when making this decision.

In an oligopolistic industry, undercutting the prices of rival firms

a. is the primary method by which firms compete.

b. isalways a wise strategy, becausc it enlarges the profits of the firm doing the
price cutting.

c. is less common than it is in pure competition.
can be a poor strategy, since it can lead to price warfare between firms.

€. is less common than in pure monopoly.

If the firms in an industry have been creating pollution and are forced to find a
method of waste disposal that does not damage the environment, the result will
probably be
a. alower price for the product offered by the firms.

a higher product price and a higher equilibrium quantity.

b

¢. alower product price and a higher equilibrium quantity.
d. ahigher product price and a lower equilibrium quantity.
e

None of the above.
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4. A supply shock such as an increase in the price of imported oil would tend to
a. reduce equilibrium GDP and the price level.

increase both equilibrium GDP and the price level.

reduce both unemployment and inflation.

gencrate unemployment but lower the price level.

e &0 o

increase unemployment while also raising the prices.

5. Assume that the reserve requirement is 20 percent aud that all banks in the system
are “loaned-up” (have no excess reserves). If an individual deposits $20,000 in
currency in a checking account at the ABC bank, which of the following would be
true?

a. The ABC bank would be able to expand loans by a maximum of $20,000.

b. The banking sysiem would be able to expand loans by a maximum of
$20,000.

¢. The ABC bank would be able to expand loans by a maximum of $16,000.
The banking system would be able to expand loans by a maximum of
$60,000.

e. The banking system would be able to expand loans by a maximum of
$40,000. '

6. Because of the existence of automatic stabilizers, the government budget
a. will tend to toward surplus during a recession.
automatically tends to be balanced on an annual basis.

b

c. will tend toward deficit during a recession.

d. will tend toward deficit during a period of economic expansion,
€

" injects the economy with additional spending during inflationary periads.

7. One advantage of stimulating aggregate supply rather than aggregate demand is
that increases in aggregate supply
a. lend to take effect more quickly than increases in aggregate demand.
b. automatically cause increases in the money supply.
c. can reduce both the price level and real GDP at the same time.
d. always increase the price level.

e. canreduce unemployment and inflation at the same time.
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8. An cconony is said to be efficient if

10.

a.
b.

it is possible to produce more of one good without producing less of another.
it is not possible to produce more of one good without producing less of
another.

it is possible to produce more of all goods.

it is not possible to increase profits by producing more goods.

None of the above.

Which of the foliowing is TURE?

a.

Economis(s generally prefer quotas to lariffs because quotas help to keep out
shoddy goods. )

Economists see tariffs and quotas as equally undesirable.

Economists prefer tariffs to quolas becatise consumers can still buy the taxed
item.

Economists prefer tariffs to quotas because tariffs are more effective in
keeping out foreign goods.

Economists favor tariff protection rather than {ree trade because tariffs can be

used to gain tax revenue.

Under a system of flexible exchange rates, if' a nation is incurring a balance of

payments deficit

a.

b
c.
d
e

it will be corrected by the outflow of gold.

it will be automatically eliminated by exchange rate adjusiments.

the nation will need to petition the International Monetary Fund for a loan.
the nation will need to devalue its currency.

it will be corrected by the inflow of gold.
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A, GBFF
B. I
C, %

D. ¥H

B -

2. EEEEHEERER
A BE

B. 44iA

C. 2R

D. &4

3, Tl REBREESR s AR s ez
A. Leader’s consideration
B. Task structure
C. Leader’s position power
D. Leader-member relations

4, TR —ERESEE D (powe) M E B R B E RN
A. B8R (persuasion)
‘B. {48 (dependency)
C. &5 (situation)
D. &1 (potential)

FHESIEEZE (conflic) BEREIERNAE - HiglE
A BETR
B. RIyiEnR
C. RHHESIERIR
D. WEHR

6. TFHIA]E BT e R A S R R ?
A. Accommodating
B. Collaborating
C. Competing
D. Compromising
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7. I » THIEERATRERE S AR TR
A. EIEHED
B. #¥
C. a#Efe
D. FERE

8. H4R&{kalifR(Web-Based Training) BT 2R B AR B SR AL RE AL EIRE
R - BRI R ARALE
A, LU A TR R R R A ]
B. Il A B EIRE X
C. BHEsEEREH AN RETER
D. BRI B E AR

0. HEFTUEREE (organizational change)H = AGRIE THHIEATEEL A
A ANE
B. Hifq
C. {£%%
D. #HEEE

10. BAEATHEHTEZAT - e e ke P victiel 45 % s A AT WAL
AT -

A. Ptk (formalization)

B. T{rEZ{ (work specialization)

C. ¥34E (delegation)

D. H4¥ (centralization)

|1, {ESEMERAAE  BETHRAEA MR
A. SRR IEREIHIE
B. BTHITIFENEEM
C. FEEHFIEER
D. fBHAEEZENE

2. R (virwal organization) RS EEENE
A. EERIEED
B. TEMlEE
C. st
D. $SHEAE
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13. — T E - ATRERETER
A IREBUER(K
B. ARSI
C. &EIHEM
D. g

14, BRERTREERE  BRERTAA  THMEAIERRT L

A. Team

B. Task force
" C. Matrix organization
D. Group

15. éﬁ&fﬁét?&ﬁ%ﬂ%B%(M)’éﬁf&ﬁﬁa’ﬁéﬁt%ﬁﬁ%biﬁ%t@ P BAE
HBRPER R s eI R R IR A RORAORE - '
A BEED
B. BELIEE
C. B
D. 3¥EEM

16, HRNTEREAE L TH—-BEERaREE
A 5L
B. ##)
C. i
D. &

17. B3R A Mk (incremental improvements) KB HRRE
A TOM
B. Reengineering
C. Process value analysis
D. Flexible manufacturing system

18, SRR e 8 TRCIURNEER - i {52 X B EE
BEb__ EFE%E-
LA NERE
B. TIEER
C. TIFTR
D. [FI{EFFEL
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19, THH— BB TR (Job characteristics mode]) s B HERH?
A. Motivation-hygiene theory
B. Eqﬁily theory
C. Great person theory
D. Leader-member Exchange model

20. AE ATt BRI R AT - R — ﬂfkl’il%ﬁf%ﬁ%)k? BEGEN-AE
EE 4 B R '

A BFTELE

B. AERAE

C. BTXREH

D. LF+%&

21 "F’i‘JﬂTEIf’E%&"ILJ\,&EEIfM&EJlf’Eﬁ&?
A, BTt
B. %1k
C. LIFERKE
D. TfEEE M

22. BEFRAIRRE TIWTE B e ER
A, B AL :
B. HiE&El
C. SEER¥L
D. Bt

2. FIHTEFBA TP YR Bz —
A. RS BE
B. IR TIRMEE
C. NS FASEIE
D. 5 TAE% RIS

24, THHEE R Aemployment)#YFE A7
A FAMEF, EIREIHES
B. RARE, #EEBTHEMER
C. #BREF, DURAPHERAY
D. AEHF, ERTRIGHWER
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I, Welcome to Kaohsiung for your Master degree! In her book
“World Class: thriving locally in the global economy” (1995), R. M.
Kanter, from Harvard Business School, has argued that making a “local”
enterprise as the World Class, or as “cosmopolitan”, in the global
economy will be conditioned by three C’s--concepts, competence, and
connection. Do you agree? In the Millennium, for the further
economic development, the Kaohsiung area has been long facing its
]_imitation under the shadow of “South vs. North” and “Local vs. Central”
issues. Thus, taking Kaohsiung as a case study, please comment on

Professor Kanter’s argument and suggest a better industry economic

policy. (2043)

2. On April 34, 2000, the Court of the USA decided the Microsoft Anti-

trust Irial. Please analyze the comparative advantages between “the
interests from market dominance by a major industry” and “the interests

from competition order of the free market”, and the policy-choice by the

US government. (20 43)

3. Now, let’s talk about the e-Commerce or the e-Economy, please
translate any “TWO” from the following terms into the Chinese, and
explain their meanings and importance to e-Economy as well: )]

‘groupware; (ii} enterprise resource planning (ERP); (iii) customer relation

management (CRM); (iv) supply chain management (SCM). { 10 43)
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A)APC<MPC B)APC+MPS=1 C)MPS+MPC=1 D)MPS>MPC E)APS>APC

8. FHUTHERRTIIGR? ABRHEE)ERCIEDIFRKEEBINHHE

0.5

11

| SRS E RS AY B TR0 A RE R ST R R T EnIRARC)

K e (B MED) RS SR A R AR T

LRIRINETA R - B GBI TR BIAYHET RS B)
SHEHIRINC) ST 3 T0D) S FR B A IF ARG R IR A L IR
The law of diminishing marginal returns states that A)as a firm’s output increases ,
the reduction in average fixed cost per extra unit of output becomes smaller and
smaller B) as a firm’s output increases , the reduction in total fixed cost per extra
unit of output becomes smaller and smaller C)as a firm becomes larger and larger,
at some point its total output will begin to fall D)as more and more of a variable
factor of production is used together with a fixed factor of production, beyond
some point the total production begins to fall E) )as more and more of a variable
factor of production is used together with a fixed factor of production, beyond
some point the marginal product attributable to each additional unit of the variable
factor begins to fall
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12. A monopolist maximizing profits through price discrimination is likely to
A)charge more to the customer with the lower elasticity of demand B)charge more
to the customer with the higher elasticity of demand C)encourage customers -
charged lower prices to resell the good to those charged higher prices D)avoid
segmenting the market

13. TS R B A R IAR - S R i R — B e AT
& I STIGA 7 A SN AB) B R 0 ACHBIRBURES
A9 A D) SR ER R ATA

14, B2 EPHSTELNENIHGRBENSR  BNIHGR - §HAER
AL ACTH) L 38B) R Sapis) ORI A FEfELACH B {ED) R & 1
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D)AVC=MCH; R ACE{EE,
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1. The classic Weberian model of formal organization or bureaucracy included all of

the following features except:

A. Standardized training and training requirements, career paths, and reward
systems.

B. Set boundaries for each department and sub-unit, but no clear boundaries
between the organization itself and its environment.

C. Formal rules and standard operating procedures that govern activities, specified
in written documents and files.

D. A formal hierarchy of positions, with a clear line of autherity that sets out clearly
the powers--and limitations of those powers--for each position or office, ina
clear and detailed chain of comimand.

E. Clearly delineated specialized individual positions and jobs, with careful and
detailed specification of the qualifications required to filt the position, the
respongibilities and performance requirements of that position, and the as-
signment to it of the resources required to do the job.

2. The word "effectiveness” may mean one thing to one person and something
different to another person. This is an example of what kind of a barrier?
Semantics

‘Wrong channel selection’

Status or power differences

Interpersonal barriers

Inconsistent cues

MEORP

-3. According to Max Weber's, the foundational "spirit" of capitalism is:
A. social movement.
B. charismatic leaders.
C. Protestant Ethic,
D. Catholic Ethic.

4. The most common social comparison in the work setting are:
A. Upward comparisons

B. Downward comparisons

C. Horizontal comparisons

D. Vertical comparisons

5. occurs when leaders from important sectors in the environment are made
part of an organization. It takes place, for example, when influential customers or
suppliers are appointed to the board of directors, such as when the senior executive of
a bank sits on the board of a manufacturing company.

A.  Cooptation

B. Interlocking directorate

C. Executive recruitment

D. Strategic alliance

6. “The decision process is not seen as a sequence of steps that begins with a problem
and ends with a sotution. Problem identification and problem solution may not be
connected to each other. An idea may be proposed as a selution when no problem is
specified. A problem may exit and never generate a solution. Decisions are the
outcome of independent streams of events within the organization...” The above
descriptions are characteristics of which types of organizational decision-making
processes:

A.  Management science approach to organizational decision making

B. Carnegie model of organizational decision making

C. Incremental decision process model

D. Garbage can model
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7. Which of the following statements regarding the relationship between structure and
strategy is incorrect?

A.  Alfred D, Chandler argued that major companies generally follow a pattern of
strategy development and then structural change, rather than the reverse.
Chandler’s work suggests that a mismatch between strategy and structore can
lead to organizational difficulties.

More recent studies have shown that the causal linkages between structure and
strategy may go both way. '

More recent studies have shown that there is no relationship between strategy
and structure.

¢ 0 ¥

8. Which of the following statements regarding job design is incorrect?

A.  Enriched and enlarged jobs typically increase efficiency.

B. Enriched and enlarged jobs often increase organizational flexibility.

C. Enriched and enlarged jobs generally increase intrinsic motivation,

D.  Job enrichment and enlargement usually complicate explicit incentives, because
it is hard to balance incentives among the many diverse tasks impounded in the
job.

9. Which of the following approaches is most likely to eliminate the glass ceiling in

the long run?

A.  Train women to monitor their behavior so that they are neither too masculine or
too ferninine. ]

B.  Educate women to assess what is desirable behavior by the management
hierarchy and to change themselves to "fit" into the existing culture.

. €, Change the orpanizational norms, policies, and structures that inhibit full

utilization of the workforce.
D. Provide sensitivity training to all employees.

10. Which of the following statements regarding extrinsic and intrinsic rewards is
mosi accurate? : .

A.  extrinsic and intrinsic rewards motivate performance only when the
performance appears necessary 1o obtain them

extrinsic rewards are more motivating than intrinsic rewards

intrinsic rewards are more motivating than extrinsic rewards

the organization can directly control intrinsic rewards, while it can only
indirectly control extrinsic rewards

PO

11. Jim is attempting to improve the performance of his employees. He is setting upa
new system by (1) conducting a performance audit, (2) establishing performance
standards or goals, (3) giving feedback to employees about their performance, and (4)
offering employees praise or other rewards tied directly to performance. Jim is
establishing a:

positive reinforcement system

management by objectives system

positive discipline program

employee assistance program

CORP

12.  Employee disclosure of illegat, immoral, or illegitimate practices on the
employer’s part is catled

A.  Whistle-blowing

B. Ethics ombudsman

C. Inside trading

D.  Grapevine
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13, A(n} collects, processes, and provides information about an
organization’s entire enterprise, including orders, product design, production,
purchasing, inventory, distribution, human resources, receipt of payments, and
forecasting of future demand.

A, ERP system

B. Expert system

C. Decision support system

D. Executive information system

E. Group decision support system

14. The modem meaning of is the use of a huge database that combines all

of a company’s data and allows business users to access the data directly, create
reports, and obtain answers to what-if questions.

A. Datamining

B. Data warchousing

C. Data management

D. Data generating

. Dataretrieving

15. As of today, all of the following countries have adopt euro as the single
European currency EXCEPT:

Portugal

Ireland

Luxembourg

Finland

Norway

mYOQWH

16. One should not jump into tearn designs unless the potential advantages outweigh
the costs. Which of the following is not an advantage of team:

A. A team design usually results in greater ownership of the final product and high
levels of commitment to implementing the team's ideas.

Work often takes less time and individuals feel a greater sense of control over
their work. :

Teams foster innovation and allow for coordination across individuals and
departments.

Teams provide many social rewards to individuals who are seeking support,
camaraderie, and assistance in their work.

Teams are a vehicle to pool diverse views and perspectives as well as for refining
raw ideas.

B & 0 W

17. Which of the following international market entry strategies is most costly and
risky:

A.  Wholly owned foreign affiliate
B. Joint venture

C. Greenfield venture

D. Franchising

E,

Global outsourcing

18. A number of studies have investigated the personality characteristics of
entreprencurs and how they differ from successful managers in established
organizations. Which of the following is LEAST likely to be the typical characteristic

of entrepreneurs:

A. Tolerance for ambiguity
B. High energy level

C. External locus of control
D. Awareness of passing time
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19. Which of the following strategies seeks to achieve both global integration and
national responsiveness?

A.  Transpational strategy

B.  Globalization strategy

C. Multidomestic strategy

D. Internationalization strategy

20. Two leadership styles used by Fiedler in his contingency theory were
A.  employee-centered and job-centered.

B. consideration and initiating structure.

C.  concern for people and concern for production.

D. relationship-oriented and task-oriented.

E. employee-oriented and relations-oriented.

21. Which leader behavior from the path-goal theory is similar to the
initiating-structure leadership? '

Supportive feadership

Directive leadership

Participative leadership

Achievement-Oriented leadership

None of the above.

EEORp

22, Sharon tried to apply the job characteristics model to her workforce, but it only
worked for some of her employees. Which of the following may be a reason why it
did not work for everyone? - : :
A.  Some of her employees are lazy.

B.  Some of her employees are low in growth-need strength.

C.  Some of her employees have a low need for power.

D.  All of her employees have high growth-needs,

E. Some of her employees have low affiliation needs.

23. goals lead to the attainment of goals, which in turn
lead to the attainment of goals.

A.  Operational, strategic, tactical
B.  Tactical, operational, strategic
C. Strategic, tactical, operational
D.  Operational, tactical, strategic
E. None of the above,
24. means that the goals to be achieved or the problem to be solved is
~unclear, alternatives are difficult to define, and information about outcomes is
unavailable.
Complexity
Risk
Uncertainty
Ambiguity
Brainstorming
25. Satisficing, bounded rationality, and uncertainty are all associated with
A.  the classical model of decision making.
B.  the administrative model of decision making.
C. the quantitative model of decision making.
D.  the rational model of decision making.
E. the political model of decision making.
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26.

and are potential sources for communication errors, because

knowledge, attitudes, and background act as filters.

SEReR S

EOOWE Y

mE ORPR

Encoding, channel
Encoding, noise
Decoding, channel
Decoding, encoding
Decoding, noise

"The biggest barrier to organizational change is usually
disagreements about the benefits.

uncertainty about the future.

a lack of understanding and trust.

fear of personal loss,

too much trust.

‘What is force field analysis?

The analysis of the forces that drive customers to a certain organization
The analysis of the forces that drive the organization of a company

The process of determining which forces drlve and which resist a proposed
change

The process by which an organization forces changes to occur

None of the above.

29. Which of the'following statements regarding team decision making is incorrect?

v N " P

E.

30.

>

B.
C.
D
E

Alternative solutions are best generated in an open atmosphere that is free from
criticism and social pressure.

Individuals generate more ideas when they work independently and then pool
their ideas in a round-robin fashion than when they work together from the start.
Teams work best when they compare aliernatives sequentially, rather than
simultaneously, and when they enlist the support of outside advisors.

Selection is facilitated when members can agree on selection eriteria and when
members shy away from quickly choosing the first alternative that satisfies those
criteria.

In today's fast-paced organizations, meetmg often and intensively helps teams
cope with evolving decision-making demands.

A company has decided to change their management structure and remove a

layer of management. What approach to change would be most successful?

Bottom-up change

Top-down change

Horizontal linkage model
Diagonal communication change
Time-based
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i 1. “Sleepless in Seattle”!? Yes, during November 30® — December 3%, 1999, there
i came out many new challenges in the global economy. Please explain at least FOUR
r major issues reported from the Ministerial Conference in Seattle, WA, USA. (20
- %) |

10 | 2. Welcome to Kaohsiung for yout: Master degree! In her book “World Class: - 10
thri\.ring locally in the global economy™ (1995), R, M. Kanter, from Harvard Business 4
School, has argued that making a “local” enterprise as the World Class, or as

“cosmopolitan”, in the global economy will be conditioned by three C’s--concepts,

compelence, and conncction. Do you‘ agree? In the Millenmium, for the further
i5 economic development, the Kaohsiung area has been long facing its limitation under 15
the shadow of "South vs. Norih” and “Local vs. Central” issues. Thus, taking

Kachsiung as a case study, please comment on Professor Kauter’'s argument and

suggest a better industry economic policy. {20 %))

3. Now, let’s talk about the e-Commerce or the e-Economy, please translate any
201 ' ' , _ 420
“TWO” from the following terms into the Chinese, and explain their meanings and
importance to e-Economy as well: (i) groupware; (if) enterprise resource planning

B {ERP); (iii) customer relation management (CRM); (iv) supply chain management

- (SCM). (10%)
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The law of diminishing marginal returns states that A)as a firm’s output increases,
the reduction in average fixed cost per extra unit of output becomes smaller and
smaller B) as a firm’s output increases , the reduction in total fixed cost per extra
unit of cutpui becomes smatler and smaller C)as a firm becomes larger and larger,
at some point its total output will begin to fatl D)as more and more of a variable
factor of production is used together with-a fixed factor of production, beyond
some point the total production begins to fall E) )as more and more of a variable
factor of production is used together with a fixed factor of production, beyond
some point the marginal product attributable to each additional unit of the variable
factor begins to fall
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12. A monopolist maximizing profits through price discrimination is likely to

13.

14. %

i5.

1e.

17.

18.

19.

20.

A)charge more to the customer with the lower elasticity of demand B)charge more
to the customer with the higher elasticity of demand Cencourage customers
charged lower prices to resell the good to those charged higher prices D)avoid
segmenting the market
TSR AR A AT f i - ﬁ?ﬁ%%@ﬁiﬁmﬁ—‘ﬁuﬁm—ﬂﬂ‘ﬁ
& » RIS T AR ﬁuu&’])\B)ﬁﬁ*ﬁﬁ’JAC)ﬁﬁfﬁﬁfﬁﬁw
9 ADYF RS EEIIA
%ﬁﬁ%ﬁ?%@@f%ﬂﬁ%ﬁﬁ&ﬁ%‘iﬁEﬂﬁ  EIRIRETS - FHAER

REEILACKH - B)RE S Bass )W B B TELACH RS RD)RH &
FEHEFITE
BSRRE IR B R E AR KM B AR FER IR R B CORL
AR RS R ¢ R B RIS RS R B A
BB AD) T B AR IR » R TR SAR
S EARIBSEINWEES - S RESDIOBES QTG
A A)W>MCF BYW<MCF C)W+MCF D)W=MRP E)W>MRP
(B TSRS o SURBOT A EE R AR A S AL AR 0GR RE R
i F'JME%?%J&M:%%Mﬂi@J‘}UB){JtﬁAﬁl@BDC){ﬁﬁAi@ﬂﬂD)riﬁﬁ’}

A)GSHEE | AL TEAETIHE i - MILACRI USRI AB)
H#E | ASES TREBTYHE T MILACH TR BICHEHTH SACHIR
EESAREAIESLAC DYE SIERRRRIRE - IR ACEZHE TREEILACE
B EE R AR
TR BN AR - UE BRSPSy R EHER ?
AVRIEF SR A B BB E RPEAMR=MC C)5REFETELACREHD)IER R
BIPERIR— IR R

200 SR AR xSy IO, FORISFORWE MU, [P, = MU, | F,, {EP'F

Bets, EPFGEOBE ST MU, I P, = MU, | P, RRIL, RISLEEHEL

RAKTH Fﬁuﬁ:ﬁﬁﬁﬁﬂﬂfﬁi@JJHB)ﬁ?JyE"J?ﬁ%ﬁﬁ&‘@%ﬂ@?ﬁ%ﬁi@ifﬂ))
ExRYIEE SIS T

410

+15

420

125

30




10

15

20

25

30

SR NEPR L £ S RSt

g i arEEEs (py> AmSCEPEESLRENC=EEFEE X f R ¥ [ =%

BOOR P

- HERE CRECEEROENER  RIRRERAIEFRABRK
Ry FESE - REHAE, P SEEHE 2 BHEIEHD )

1. Which of the following statements regarding conflict i?_l/ncorrect?

The greater the diversity in goals, perceptions, cogpitive frameworks, or cultural
assumptions, the greater the potential for conflict.

The more unequally power is distributed in relationships, the more likely
conflicts of interests or goals are likely to surface as open conflicts.

Conflict is not an objective, tangible phenomenon; rather, it exists in the minds of
the people who are party to it.

The political perspective on organizations sees most organizational interactions
as negotiations.

v 0 7 >

2. Angelina knows that her supervisor does not like her. When her supervisor talks
to her about increasing effectiveness, Angelina knows he is just hassling her instead
of soliciting her ideas. This is an example of what type of barrier to communication?
Semantic barrier

Interpersonal bairier

Wrong channel selection

Inconsistent cues between verbal and nonverbal communication

Lack of formal channels

HEOF»

3. Companies are increasingly supplementing the formal reporting systems with all of
the following EXCEPT:

Standing coordination committees

Task forces

Shared databases

Clearly defined roles and jobs

The cultivation of informal information networks across departments

4. The main challenges that organizations are facing in pursing total quality nowadays
concermn: .

A. the acquisition of the necessary knowledge of principles of statistical process
control

inventory management

activity-based accounting

the management of human resources

Tow

5. All of the following are features of internal labor markets {ILMs) EXCEPT:

A.  Long-term attachments between the organization and its workforce

B. Promotion from within, except for a few designated entry ports

C. Formal rules and procedures governing employment relationships, including the
assignment of wage rates to jobs rather than to individuals

D.  Anemphasis on skills rather than on seniority

6. According to William Ouchi, managers at the top and middle levels of an
organization can choose among three overall approaches for control. The three types
of control are:

Supervisory control, output control, behavior control

Input control, output control, process control

Market control, bureaucratic control, clan control

Supervisory control, market control, bureaucratic control

COEPF

is probably the greatest cause of intergroup conflict in organization.
Operative goal incompatibility
Resource scarcity
Differentiation
Task interdependence

SORpP N
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8. The is most common when organizations really do not know what makes
a management system work or fail--that is, under conditions of uncertainty--or when

an organization in trouble tries to win credibility by changing its structures and
processes to match those used by "successful” organizations.

A. Mimetic isomorphism.

B. Coercive isomorphism,

C. Self-reproduction

D. Socialization

9, Which of the following approaches is most likely to eliminate the glass ceiling in

the long run?

A. Train women to monitor their behavior so that they are neither too masculine or

too feminine,

B. Educate women to assess what is desirable behavior by the management
hierarchy and to change themselves to "fit" into the existing culture.

C. Change the organizational norms, policies, and structures that inhibit full
utilization of the workforce.

D. Provide sensitivity training to all employees.

10. Which of the following statements regarding extrinsic and intrinsic rewards is
most accurate?

A. extrinsic and intrinsic rewards motivate performance only when the
performance appears necessary to obtain them '
extrinsic rewards are more motivating than intrinsic rewards

intrinsic rewards are more motivating than extrinsic rewards

the organization can directly control intrinsic rewards, while it can only
indirectly control extrinsic rewards

YOoR

11. Jim is attempting to improve the performance of his employees. He is setting up

a new system by (1) conducting a performance audit, (2) establishing performance

standards or goals, (3) giving feedback to employees about their performance, and (4)

offering employees praise or other rewards tied directly to performance. Jim is
establishing a:

positive reinforcement system-

management by objectives system

positive discipline program

employee assistance program

sawp

12. Employee disclosure of illegal, immoral, or illegitimate practices on the
employer’s part is called

A.  Whistle-blowing

B. Ethics ombudsman

C. Inside trading

D. Grapevine

13. A{n) cellects, processes, and provides information about an
organization’s entire enterprise, including orders, product design, production,
purchasing, inventory, distribution, human resources, receipt of payments, and
forecasting of future demand.

ERP system

Expert system

Decision support system

Executive information system

Group decision support system

HEOREP
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14, The modern meaning of is the use of a huge database that combines all
of a company’s data and allows business users to access the data directly, create
reports, and obtain answers to what-if questions. '

A. Data mining

B. Data warehousing

C. Data management S~
D. Data generafing '

E. Dataretrieving

15. As of today, all of the following countries have adopt euro as the single
European currency EXCEPT:

A. Portugal-

B. Ireland

C. Luxembourg

D. Finland

E. Norway

16. One should not jump into team designs unless the potential advantages outweigh

the costs. Which of the following is not an advantage of team:

A. A team design usually results in greater ownership of the final product and high
levels of commitment to implementing the team's ideas.

B. Work often takes less time and individuals feel a greater sense of control over
their work. :

C. Teams foster innovation and allow for coordination across individuals and
departments.

D. Teams provide many social rewards to individuals who ate seeking support,
camaraderie, and assistance in their work.

E. Teams are a vehicle to pool diverse views and perspectives as well as for refining

taw ideas.

17.  Which of the following international market entry strategies is most costly and

A.  Wholly owned foreign affiliate
B. Joint venture -

C. Greenfield venture

D. Franchising

E. Global outsourcing

18. A number of studies have investigated the personality characteristics of
entrepreneurs and how they differ from successful managers in established
organizations. Which of the following is LEAST likely to be the typical characteristic
of entrepreneurs: _ :

A. Tolerance for ambiguity

B. High energy level

C. External locus of control

D. Awareness of passing time

19. ‘Which of the following stratcgies seeks to achieve both global integration and
national responsiveness?

A. Transnational strategy

B. Globalization strategy

C. Multidomestic strategy

D. Internationalization strategy

20. Two leadership styles used by Fiedler in his contingency theory were
A. employee-centered and job-centered.

B. consideration and initiating structure.

C. concern for people and concern for production.

D. relationship-oriented and task-oriented.

E. employee-oriented and relations-oriented.

{20

30




B3 b KA B E AR A A

# B : %‘@:‘%ﬁ CPED ﬁ%%@&#ﬁ:{:mmm% AN B lfﬁ

‘s

10

15

20

25

30

21. Which leader behavior from the path-goal theory is similar to the
initiating-structure leadership?

Supportive leadership

Directive leadership

Participative leadership

Achievement-Oriented leadership

None of the above.

mEOwy

22. Sharon tried to apply the job characteristics model to hisr workforce, but it only
worked for some of her employees. Which of the following may be a réason why it
did not work for everyone?

A.  Some of her employees are lazy.

B. Some of her employees are low in growth-need strength.

C. Some of her employees have a low need for power.

D.  All of her employees have high growth-needs.

E. Some of her employees have low affiliation needs.

23, goals lead to the attainment of goals, which in turn

lead to the attainment of goals,
A.  Operational, strategic, tactical

B. Tactical, operational, strategic

C. Strategic, tactical, operational

D. Operational, tactical, strategic

E. None of the above.

24. means that the goals to be achieved or the problem to be solved is
unclear, alternatives are difficult to define, and information about outcomes is
unavailable.

A. Complexity

B. Risk i

C. Uncertainty

D. Ambiguity

E. Brainstorming

25. Satisficing, bounded rationality, and uncertainty are all associated with
“A. the classical model of decision making.

B. the administrative model of decision making.

C. the quantitative model of decision making.
' D. the rational mode! of decision making.

E. the political model of decision making.

26. and are potential sources for commumcatmn errors, because

knowledge, attitudes, and background act as filters.
Encoding, channel

Encoding, noise

Decoding, channel

Decoding, encoding

Decoding, noise

HEOR>

The biggest barrier to organizational change is usually
disagreements about the benefits.

uncertainty about the future,

a lack of understanding and trust.

fear of personal loss.

too much trust.
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What is force field analysis?

The analysis of the forces that drive customers to a certain organization
The analysis of the forces that drive the organization of a company

The process of determining which forces drive and which resist a proposed
change

The process by which an organization forces changes to occur

None of the above.

29. Which of the following statements regarding team decision making is incorrect?

A
B
C.
D

E.

Alternative solutions are best generated in an open atmosphere that is free from
criticism and social pressure.

Individuals generate more ideas when they work independently and then pool
their ideas in a round-robin fashion than when they work together from the start.
Teams work best when they compare alternatives sequentially, rather than
simultaneously, and when they enlist the support of outside advisors.

Selection is facilitated when members can agree on selection criteria and when
members shy away from quickly choosing the first alternative that satisfies those
criteria.

Tn today's fast-paced organizations, meeting often and intensively helps teams
cope with evolving decision-making demands.

30. A company has decided to change their management structure and remove a
layet of management. What approach to change would be most successful?

BEAF>

Bottom-up change

Top-down change

Horizontal linkage model
Diagonal communication change
Time-based
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1. Which of the following costs of producing computer memory chips SHOULD
I NOT be considered when deciding whether to increase production?
- a. The wages paid to the workers on the memory chip assembly line.
b. The costs of materials that go into the production of each chip,
3 ) ¢. The costs of packaging and shipping completed memory chips to Dell,
| Gateway, and Micron, l
d.  The wages paid to engineers working in research and development,
51 e. . All of the above costs should be considéred when making this decision.
I 2. Inan oligopolistic industry, undercutting the prices of rival firms
- a. is the primary method by which fitms compete,
b. is always a wisc sirategy, because it enlarges the profits of the firm doing the
I price cutting.
L c. is less common than it is in pure competition.
can be a poor strategy, since it can lead to price warfare between firms.
0. e. isless common than in pure moﬁopoly.
3. If the firms in an industry have been creating pollution and are forced to find a
- method of waste disposal that does not damage the environment, the result will
probably be
i a. alower price for the product offered by the firms.
L a higher product price and a higher equilibrium quantity.
25

a higher product price and a lower equilibrium quantity.

b
¢.. alower product price and a higher equilibrium quantity.
d
e. None of the above.
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4. A supply shock such as an increase in the price of imported oil would tend to
a. reduce equilibrivm GDP and the price level.
b. increase both equilibrium GDP and the price level.
c. reduce both unemployment and inflation.
d. generate unemployment but lower the price level.
e

increase unemployment while also raising the prices.

5. Assume that the reserve requirement is 20 percent and that all banks in the system
are “loaned-up” (have no excess reserves). Ifan individuat déposits $20,000 in
currency in a checking account at the ABC bank, which of the following would be
true?

a. The ABC bank would be able to expand leans by a maximum of $20,000.

b. The banking system would be able to expénd loans by a maximum of

~ $20,000.

c. The ABC bank would be able to expand loans by a maximum of $16,000.
The banking system would be able to expand loans by a maximum of
$60,000.

e. The banking system would be able 1o expand loans by a maximum of
$40,000. '

6. Because of the existence of automatic stabilizers, the government budget
a. will tend to toward surplus during a recession, ‘

automatically tends to be balanced on an annual basis.

will tend toward deficit during a recession,

will tend toward deficit during a period of economic expansion.

o a6 o

injects the economy with additional spending during inflationary.periods.

7. One advantage of stimulating aggregate supply rather than aggregate demand is
that increases in aggregate supply
a. tend to take effect more quickly than increases in aggregate demand.
automatically cause increases in the money supply.
can reduce both the price level and real GDI at the same time.

always increase the price level.

o a o o

can reduce unemployment and inflation at the same time.
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- 8. An economy is said to be efficient if . .
a. it is possible to produce more of one good without producing less of another.
I b. it is not possible to produce more of one good without producing less of 45
B another, . i
it is possible to produce more of all goods.
B it is not possible to increase profits by producing more goods. -
| €. None of the above.
~ 9. Which of the following is TURE? i
a. Economists generally prefer quotas to tariffs because quotas help to keep out
i shoddy goods. 110
L b. Economists see tariffs and quotas as equally undesirable. i
c. Economists prefer tariffs to quotas because consumers can still buy the taxed
T‘ : item. 1
. d. Economists prefer tariffs to quotas becanse tariffs are more effective in
keeping out foreign goods. i
N ¢. Economists favor tariff protection rather than free trade because tariffs can be .
used to gain tax revenue, .
i 15
- 10. Under a system of flexible exchange rates, if a nation is incurring a balance of A
payments deficit
i a. it will be corrected by the outflow of gold. N
R b. it will be automatically eliminated by exchange rate adjustments.
c. the nation will need to petition the International Monetary Fund for a loan. ) ‘,
B d. the nation will need to devalue its currency. - ’
i e. it will be corrected by the inflow of gold. 120
L 425
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SEAEHE 24 EEEND 1 5 B ES TEEGIRE 4

L. "F?'Jﬁ[%‘ﬂ‘%ﬁ‘éﬁ%ﬁbﬂ’ﬂ%ﬁ%ﬁ%ﬁﬁ%iﬁﬂB‘J'f%ﬁ%‘.@%lz—ﬂ

A. Leader’s consideration -

B. Task structure
C. Leader’s position power
D. Leader-member relations

2. A B e R SRR ' -

A. Accommodating
B. Collaborating

C. Competing i

D. Compromising

1 BRERIMCEERS  BEGERTHEA T PETE A E SR AT
A, Team '

B. Task force ) : o

C. Matrix crganization
D. Group

4. FHIH— B EHE M powe) E R RETMN?
A. MR (persvasion)

B. {38 (dependency) ' i

C. [BIE (situation)

D. &1 (potential) . |

5. SEPEFLIEEZE (conflic)RE AH EMERE - HEEAE ?

A BHEITR )

B. BT ER
C. BHESEETOR

D. B | l

6, CREIRLEBNBENEAEE R -
A BB

B. #HA

C. &R

D. Eh
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"7, SHBIRITRF - TYUTE R U ESRNEE TR

A. 25
B. A

C. &8
D. BEHER

8. R {L3i(Web-Based Training) Al SR E %*:ﬂﬁ%ﬁ%&@ EERRAER R

HHERE - BB ARG
A. ﬁt?ﬁﬂﬂ‘ééﬁﬂ%ﬁﬁmﬁ‘lﬂﬁﬂ’ﬂ%ﬂ&ﬂﬂ

FilR N B2 E R

BHE BT T A9 A R ETER

. SRR R AR

° 0w

GH R (orgamzanonal change)’ﬁ R I E AT
A =
B. &ila
C. {1i%
D. M

10. EAFEAMFLPIRLAI - HFHTEREERET
TR -

A. IER kL (formalization)

B. T{FH#1t (work specialization)

C. 13 (delegation)

D. HHE (centralization)

i1, 7EACRERCHAGRE - BOlEEEARORIRERE .
A. HEREERRFERE IR
B. BRI {EEhiEs
C. THEEHERLR
D. REHAGEZENMNE

12, AR (virtual organization) RYRFEMEERE
A, $EHIEE
B. TEBIFEN
C. fHigsEE
D. %ﬁ?ﬁiﬁfﬁ

H AR EE IR
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13, —AETIE - A FII AR &
A ASETRIEEMY
B. MRS
C. HEEHRN
D. UL

14. FE—HS W%ﬁ‘a#ﬁtﬂ?&ﬂ% L (just-in- time) AT I » AR FRBUE SEATHREE?
A. T8
B. &R
C. =#
D. &

1S, Ss{ERE IR S B (MDY AR B R SR IE T B
MAEEE » A K ST R BAGLR A TR ARRI IR -

A BEEN

B. B {LFEE

C. BUFF&CE

D. BZEEHE

16, EpIEREAE - UTH—EEEHaRER
A S
B. #i#l|
C. t#
D. #H&%

17. 3ERaE=oisE(incremental improvements) i B ELHIR 2
A TQM
B. Reengineering
C. Process value analysis
D. Flexible manufacturing system

18, SEE A R B TR - Pl (5% X i EE
RrLA EERUE -

A NETRE

B. L{EiER

C. TIETR

D. R

£3 =
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19. THIH—EEHE TR (Job characteristics model) S R AERE?
A. Motivation-hygiene theory
B. Equity theory
C. Great person theory
D. Leader-member Exchange model

20, ARTEARANERAY - MBI REEAT - BEGER—5E
B A TR

A BUETEA

B. ASHA

C. BT®E

D. IfF+5

21 TRIUTRE TR LR R AR EI TIFE LY
A. Brfiesiuts
B. T{pseistk
C. T{FEEM
D. TFE XMk

22. EHrIBRHEER Y T E R T REN
A BEAMEA
B. HEEEL
C. #ERENR
D. KSR

23, T E T BRI EE EELRERZ—
A, YEINIEEZ #E
B. T E BT
C. B AFEEEAIEGIE
D. i TE& RS

24, TFFHAEE B A (employment) A ELRI?
A. FAMEDS, EHRSBHHREN
B. HARSE, FEERTHEMER
C. BHEG, SORATFEHSERAS
- D. AREF, B TATABEMERE
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25. AN B TACIRATHERE - THIBE—(BPOLR EhErT?
A BTHHERHREE A B EE &L F R e
B. #ETENEE MR RE BN IBRNIE
C. BLAYFREERIEAFR > TREMRENR - SRR
D. BTERICHIE TS - ST EERFERE s

ZERY + THERA(S 50%)
FEER | ERNFEYPMER  BENENFUEEHEERY RS
5 - BEES A —ERFEEES -

L BAR  SEEARMEMRNE - LRER - BSBAREERENS T
IRERFE A AT R AT S « FORE » SRR E — A I0RCH A JESS
EATRE R IERREY S 7 R RMIE RV EIR 7 BEERTSIME TS
BOCHERYER - DREERME? [255]

2. ﬁﬁi%@ﬁﬁ"uﬁﬁﬂkﬁiuﬁ%ﬁ i - MBS TI R EERENT - £HER
BRHIAT < B2 » HBIETNER T —EREBANRE, - SRS
BWEE - o ARSI T2 Bt < F S EEENEAHIHER
HERE AR ERERIRE - o FERT AU - BELMAERTLE
ﬁﬁ%ﬁ BRI ? R B E L R R 7 [2543)

J10

415

420






